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Question Number : 1 Question Id : 953357314467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a principle of the development?

Options :

1. Development occurs along a single course and is not uni-dimensional.

2. Development proceeds from the top-down and from centre outwards.

3. Development is influenced by both 'nature' and nurture'.

4. Development occurs in socio-cultural contexts.

Question Number : 1 Question Id : 953357314467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH O FI9 9 e o g e

Options :



, TR TRafE s Fs T o Fr R Ea T
. ToreTr STaTToTere o HeaTaor § wuTfer & &

, oo AT S wis & 2 ¥

Question Number : 2 Question Id : 953357314468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cephalocaudal principle is applicable in the sphere of -

Options :

1. motor Development

2. language Development

3. cognitive Development

4. moral Development

Question Number : 2 Question Id : 953357314468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357314469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is a 'sensitive period' pertaining to language development.

Options :

1. Pre-natal period

2. Early childhood period
3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 953357314469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357314470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

occurs within the family when children first learn their individual identity, acquire language and develop initial cognitive
skills.

Options :

1. Primary socialization

2. Secondary socialization
3. Latent socialization

4. Active socialization

Question Number : 4 Question Id : 953357314470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357314471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the theory of Lawrence Kohlberg, at which level is moral thinking based on taking initial perspective of the society?
Options :

1. Pre conventional

2. Conventional

3. Post-conventional

4. Late-conventional

Question Number : 5 Question Id : 953357314471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357314472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From a Piagetian perspective, the process of taking new information into the existing body of knowledge is called -

Options :

1. Accommodation

2. Socialization

3. Assimilation

4. Organization

Question Number : 6 Question Id : 953357314472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357314473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meena has begun to use 'words' and started understanding that words represent objects.
She is also beginning to reason logically though she cannot perform conservation. According to Jean Piaget, which stage of cognitive
development is Meena in?

Options :

1. Pre-operational

2. Formal operational
3. Sensori-motor

4. Concrete operational

Question Number : 7 Question Id : 953357314473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357314474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The concept of 'zone of Proximal Development' has been proposed by -

Options :

1. Jerome Bruner

2. David Ausubel

3. Robert M. Gagne

4. Lev Vygotsky

Question Number : 8 Question Id : 953357314474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357314475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which statement correctly lays out the fundamental principle of Lev Vygotsky's theory?

Options :

1. Learning is a un-conscious process

2. Learning is a social activity

3. Learning is genetically programmed.

4. Learning is a discontinuous process that occurs in four stages.

Question Number : 9 Question Id : 953357314475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357314476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
An example of pedagogical strategy that would promote meaningful learning is -



Options :

1. regular individual competitions.

2. use of verbal punishment.

3. uniform rigidly structured curriculum.

4. focusing on 'assessment for learning' rather than only 'assessment of learning'.

Question Number : 10 Question Id : 953357314476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357314477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following developmental theory advocates that 'cognitive development precedes symbolic language development in a
child"?

Options :

1. Piaget's cognitive development theory

2. Vygotsky's socio-cultural theory

3. Erikson's theory of psychosocial development

4. Bandura's social learning theory

Question Number : 11 Question Id : 953357314477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357314478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not an effective practice adopted by a teacher in the classroom to address gender stereotypes?

Options :

1. Counter gender bias.



2. Separate seating arrangement for boys and girls in the class.
3. Discussions on gender discrimination.
4. Use of examples which show boys and girls in non-conformist roles.

Question Number : 12 Question Id : 953357314478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST BIGATET T e 3 o400 Ueh STATIF ZIT &l § T 31 S JTeAT Si-61 Tarer 3= T2t 27
Options :

, T H STETh-ATTTERIS! Tl S-S ST it ST T
3 TS HEMTE UT == AT

. ﬁ-@r : -\_-Eh_r ‘- . E, -\-. - \?.:ﬁ'{ E d'ﬁ?‘:_ :.-: t\ﬁ ,a:ﬁﬁ' r%‘_

Question Number : 13 Question Id : 953357314479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Paro helps her father in his carpentry shop where she sucessfully measures wooden blocks using techniques taught by her father. She is
recently admitted to a public school under EWS scheme, where she is unable to cope up with the academic demands especially in this
situation, the teacher should -

Options :

1. tell Paro that she does not have the ability to study.

2. give tests and encourage repeated drill and practice.

3. contextualize the curriculum and study material for Paro integrating her mathematical experiences gained outside the school.
4. ask Paro to keep her knowledge gained at home separate from knowledge gained in school.

Question Number : 13 Question Id : 953357314479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357314480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sensitivity to the sounds, rhythms and meaning of words characterize which type of intelligence?



Options :

1. Interpersonal
2. Intrapersonal
3. Linguistic

4. Spatial

Question Number : 14 Question Id : 953357314480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357314481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a socio- constructivist classroom which methods of assessment would be preferred?

Options :

1. Collaborative projects

2. Objective questions having one word answers

3. Standardized tests.

4. Tests based on mere recall.

Question Number : 15 Question Id : 953357314481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357314482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The 'continuous' aspect in continuous and comprehensive evaluation implies -

Options :

1. continuous observation and support to children during teaching -learning, employing different tools.

2. continuous comparison of learner's performances with one another through marks, grades and other means.

3. conducting formal 'paper-pencil' tests in fixed intervals throughout the academic session.

4. periodic testing of children to gauge their ability of memorisation and recall.



Question Number : 16 Question Id : 953357314482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357314483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students should be encouraged to set goals.

Options :

1. Mastery oriented

2. Failure oriented

3. Failure accepting

4. Self defeating

Question Number : 17 Question Id : 953357314483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357314484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a principle of inclusion?

Options :

1. Discrimination

2. Standardized instruction

3. Acceptance of individual differences

4. Segregation and labelling

Question Number : 18 Question Id : 953357314484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357314485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child who has partial vision:

Options :

1. should be encouraged to opt for home based education.

2. needs to be in a separate institution.

3. should become a part of a regular school with inclusive provisions.

4. should be in a regular school with no special provisions to encouraging coping behaviours.

Question Number : 19 Question Id : 953357314485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357314486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following practices will support creativity in a classroom?

1) acceptance of imaginative answers
i) emphasis on brainstorming
iii) emphasis on convergent thinking

iv) tolerance to dissent
Options :

1.4, 11

2.1, i, iil

3.1, iv

4.1, 1i, iv



Question Number : 20 Question Id : 953357314486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
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Question Number : 21 Question Id : 953357314487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following strategy is NOT in line with the philosophy of inclusion to help a child with autism in your class who is finding it
difficult to cope up with group activities?

Options :

1. Giving appropriate visual and written material to be used during the group work.
2. Allowing the child to work in pairs in a relaxing atmosphere with less noise.

3. sending the child to study in special school.

4. seeking the support of remedial teacher in regular classroom itself.

Question Number : 21 Question Id : 953357314487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357314488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a primary classroom, the teacher must students to ask questions.

Options :

1. encourage



2. discourage
3. never allow
4. punish

Question Number : 22 Question Id : 953357314488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357314489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Schools must enable children to find their voices, nurture their curiosity- to do things, to ask questions, to engage in
discussions and do group work-rather than building their ability to reproduce textual knowledge.

Reason (R) : Learning is active and social in its character.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 23 Question Id : 953357314489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357314490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Graphical tools for organizing and representing knowledge and relationships within a particular topic are known as

Options :

1. chunks

2. advance organizers

3. mnemonics

4. concept maps

Question Number : 24 Question Id : 953357314490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357314491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the example that illustrates intrinsic motivation.

Options :

1. Roshni is working hard to score well in exams as her parents have promised her a watch on getting above 90%.

2. Rumi completing her homework so that his parents let him watch T.V.

3. Rama reading more books so that her name is first on the 'reading stars' to win her teacher's appreciation.

4. Ravi exploring various resources for his project because he loves learning new things.

Question Number : 25 Question Id : 953357314491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357314492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of these strategies is not effective in helping students cope with anxiety?
Options :

1. Teaching them methods for effective and meaningful learning.

2. Helping them set realistic short term goals.

3. Helping them recognize the source of their anxious feelings.

4. Comparing student's performance with one another in the classroom.

Question Number : 26 Question Id : 953357314492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357314493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rachita a Mathematics teacher, tries to analyse the errors made by her students in identifying the correct operation to be applied for
statement sum. She does this to -

Options :

1. segregate students who make more errors in comparison to others.
2. give more questions to them as a punishment.

3. correct the errors by giving them more practice.

4. understand the errors since they are a window to children's thinking.

Question Number : 27 Question Id : 953357314493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357314494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



National Education Policy 2020 lays emphasis on -
Options :

1. learning-for-exams.

2. rote learning

3. practice and drill

4. conceptual understanding

Question Number : 28 Question Id : 953357314494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357314495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children learn most meaningfully

Options :

1. through lectures and direct instruction.

2. by repeated mechanical practice.

3. when they are actively engaged in tasks and activities.

4. appropriate rewards are offered at every step in completion of the tasks.

Question Number : 29 Question Id : 953357314495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357314496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Giving students access to a range of suitable materials and the scope to self direct their learning is a way of promoting -

Options :

1. rote learning

2. competitive learning



3. discovery learning
4. learning through instruction

Question Number : 30 Question Id : 953357314496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357314497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a division sum, the divisor is 5 times the quotient and 4 times the remainder. If the remainder is 5, what is the
dividend?

Options :

1. 80

7. 85
3. 75
4. 104

Question Number : 31 Question Id : 953357314497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 80



, 85
3 75
4 104

Question Number : 32 Question Id : 953357314498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The second number in five consecutive number is 49. What is the product of the even numbers in these numbers?
Options :
| 124800

» 123800
3. 132600
4. 117600

Question Number : 32 Question Id : 953357314498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L 124800

, 123800
5. 132600
4 117600

Question Number : 33 Question Id : 953357314499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A steel wire forms a square whose area in 121 cm?. If the same wire is bent in the form of a rectangle whose breadth is
8 cm, then the length of rectangle is

Options :

1. 44 cm

7. 24 cm

3 28cm

4. 14 cm

Question Number : 33 Question Id : 953357314499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 44 cm

7 24 cm
3 28 cm

4. 14 cm

Question Number : 34 Question Id : 953357314500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Amongst the following fractions, the largest and smallest fractions, respectively, are

Question Number : 34 Question Id : 953357314500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357314501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In how many ways, 36 small squares of 1 cm x 1 cm can be arranged so that the resulting area is 36 cm? ?
Options :
1.1

Question Number : 35 Question Id : 953357314501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
11

2. %

4.6

Question Number : 36 Question Id : 953357314502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a class, there are 60 students such that the number of girls is twice that of boys. Rohit ranked 17th from the top. If
there are 9 girls before Rohit, how many boys are ranked after him?
Options :

1. 12

2. 13
3. 31
4. 43

Question Number : 36 Question Id : 953357314502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 12

2. 13



3. 31

4 43

Question Number : 37 Question Id : 953357314503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sayma reaches bus stand at 9:35 am and is told by Zeenat that the previous bus has left at 9:25 am as per her watch. If
Zeenat’s watch is 5 minutes fast and the frequency of bus is every 20 minutes, for how long Sayma has to wait to catch
the next bus?

Options :

1. 20 minutes

215 minutes
3. 10 minutes
4. 5 minutes

Question Number : 37 Question Id : 953357314503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L 20T
, 15T

; 10T

4 5T

Question Number : 38 Question Id : 953357314504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should be subtracted from the sum of 10001, 20022, and 30333 to get 170697
Options :
1. 23131
o 43287
3. 57313

4 53397

Question Number : 38 Question Id : 953357314504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

10001, 20022 T 30333 3 I F § 9T =147 S0 15764 17069 TTH &7
Options :
L 23131

Question Number : 39 Question Id : 953357314505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rates of various eatables in a school canteen are given below.

One samosa - £ 5.00

A packet of groundnuts - £6.50

One gulabjamun - % 7.00

One dhokla - £ 8.50

One bottle of nimbu pani-< 11.50

Sunaina buys one samosa, two packets of groundnuts, one gulabjamun and one bottle of nimbu pani. If she gives a X
100 note to the canteen owner, how much would she get back?

Options :

1. $44.50
5. X55.50
3. 262.00
4. £63.50

Question Number : 39 Question Id : 953357314505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L 244.50

, 255.50

3 262.00



Question Number : 40 Question Id : 953357314506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A train starts from Bengaluru at 23:55 hours on 29th June 2020 and reaches Guwahati on 2nd July 2020 at 05:20 hours.
What is the total travel time from Bengaluru to Guwahati?

Options :
1. 48 hours 5 minutes

> 53 hours 25 minutes
3. 52 hours 5 minutes
4. 48 hours 25 minutes

Question Number : 40 Question Id : 953357314506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 41 Question Id : 953357314507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The largest three digit number is multiplied by the largest two digit number. The product is divided by the smallest two
digit odd number. What is the quotient?

Options :
| 8991
, 10989
3 9999
4 1089

Question Number : 41 Question Id : 953357314507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
| 8991

, 10989
3 9999

4 1089

Question Number : 42 Question Id : 953357314508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A number is larger than half of 50. It is more than three tens and less than four tens. The ones digit is two times the
tens digit.

What is the number?

Options :

1. 28

2 32
3. 36

4, 38

Question Number : 42 Question Id : 953357314508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 28

2 32
3. 36
4. 38

Question Number : 43 Question Id : 953357314509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The dimensions of a godown are 5 m x 7 m x 4 m. What is the largest number of parcels of dimensions 25 cm % 50 cm
% 25 cm can be accommodated in the godown?

Options :
1. 2912

2. 4480



3. 1456

4 896

Question Number : 43 Question Id : 953357314509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L 2912

, 4480
5 1456
4 896

Question Number : 44 Question Id : 953357314510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An auto rickshaw meter shows charges of $25 for the first two kilometres of journey and %8 for every subsequent
kilometre travelled. Manas pays 249 as fare to travel from his house to his workplace. How far is his workplace from
his home?

Options :

1. 24km

o 27km
3, 30km

4 33km

Question Number : 44 Question Id : 953357314510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 45 Question Id : 953357314511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following table shows marks obtained out of 100 by Sunita and Jessica in five subjects:

Sunita lessica
Maths 68 74
English 72 60
Social Science 85 78
Science 78 34
Hindi 79 69

Based on the table above identify the correct statement from the following:
Options :
1 Sunita has scored more marks than Jessica in all the subjects except the languages.

5 Sunita's aggregate marks in maths and science are more than Jessica's aggregate marks in these subjects.
3 Jessica has scored more than Sunita in three subjects.

4 The aggregate marks of Sunita and Jessica would have been equal if Jessica had scored 17 more marks.

Question Number : 45 Question Id : 953357314511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357314512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a feature of constructive practice in teaching - learning of mathematics
Options :



| starting the class by assessing learners’ initial understanding
, encouraging intuitive solution
3 presenting opportunity for cognitive conflict

4 encouraging problem solving in prescribed manner

Question Number : 46 Question Id : 953357314512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 953357314513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Following questions are posed by the teacher in the mathematics classroom
A) Find two numbers whose sum is 87

B) Draw a triangle with perimeter 50 cm?

C) What are factors of 257

D} Define 'Perimeter’
Options :

1A & B are open ended and C & D are closed ended questions

) A & C are closed ended and B & D are open ended qguestion
3 A B, Care closed ended and D is open ended question

4 A, C Dare closed ended and B is open ended gquestion

Question Number : 47 Question Id : 953357314513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 953357314514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following in an important indicator of creative thinking in mathematics?
Options :
1 Standardized Problem solving

7 Problem Posing

3. error-free calculation

4. recall of correct formula

Question Number : 48 Question Id : 953357314514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357314515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At What level of Van Heile's spatial/geometrical understanding, a child is likely to accept that a square is also a
rectangle

Options :

1. Level O (Visualization)

, Level 1 {Analysis)

3 Level 2 (Relationship)



4 Level 3 (Deduction)

Question Number : 49 Question Id : 953357314515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357314516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is referred to as additive identity for whole numbers?
Options :
1. Zero

H One
3. The number itself
4 The negative of the number

Question Number : 50 Question Id : 953357314516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357314517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statements is/are correct?

A) Mathematical knowledge can be created by primary school students by observing and identify relations
B) Learning mathematics is a social process involving dialogue and negotiation

C) Argumentation plays an important role in learning of mathematics

D) Culture has no role in creating mathematical understanding in classroom
Options :

1. A, B

, B,CD
5 B

4 ABD

Question Number : 51 Question Id : 953357314517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357314518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is / are true regarding Geometry curriculum at Primary level?
A) Geometry needs to be limited to recognition of 2-D shapes like circle, square, triangle etc.

B) Proper definitions should be introduced

C) Intuitive understanding of space should be developed
Options :

1 A&B

) B&C
3. Only C

4 Only A



Question Number : 52 Question Id : 953357314518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357314519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is / are true regarding mathematical skills and competencies used by street vendors
and shopkeepers?

A) They are not useful to solve mathematical problem in class

B) They are ambiguous and illogical

C) They help in developing alternate strategies in solving mathematical problems
Options :

| A&B

2 Only B
3. Only A
4 Only C

Question Number : 53 Question Id : 953357314519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4 FAAC

Question Number : 54 Question Id : 953357314520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following activities is |least likely to develop spatial reasoning among students?
Options :
1 Drawing pictographs to represent data

2 Working on tangram puzzles
3 |dentifying the nets of different solid shapes

4 ldentifying the axes of symmetry of given shapes

Question Number : 54 Question Id : 953357314520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357314521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Which of the following strategies is best suited to introduce the multiplication of 3 and 57
Options :

1 Building rectangular arrays of 3 by 5 using certain objects

2 Reciting the tables of 3 and 5 to find the answer

3 Finding out the answer with the help of a calculator

4 Providing practice in skip counting

Question Number : 55 Question Id : 953357314521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357314522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT acceptable with regard to teaching students to solve problems based on mathematical
operations?

Options :

1 The problems chosen should be realistic

5 Simple examples with smaller numbers should be taken up first
;3 Concrete materials may be used to support students’ understanding of the steps of the algorithm

4 Only one method of solving a particular type of problem should be emphasised

Question Number : 56 Question Id : 953357314522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 953357314523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following statements number 'four' is used in (cardinal) sense?
Options :
1. My office is on the fourth floor of this building



» My son ranked fourth in the competition
3 The fourth chapter of this book is very interesting

4 Four teams participated in the show

Question Number : 57 Question Id : 953357314523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357314524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify the correct statement

A. Multiplying a number by another always increases its value

B. Dividing a number by another always decrease its value

C. A number multiplied by 10 always has a zero at the units place
D. Multiplication is the inverse of division
Options :

1. A&B

5, C&D
3. Only C

4 Only D

Question Number : 58 Question Id : 953357314524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 953357314525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from among the following
Options :

| Estimation of quantities is not a mathematical skill

» Mathematics can be equated with a list of standard formulae

3 Mathematics involves identification of patterns

4 Mathematics can be equated with a set of mechanical procedures

Question Number : 59 Question Id : 953357314525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 953357314526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most suitable strategy for introducing the concept of symmetry?
Options :

1. Engaging students in paper folding activities

5 Giving clear definition of the concept

3 Involving students in discussions

4 Encourage students to observe squares and rectangles



Question Number : 60 Question Id : 953357314526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

Section Id : 95335710580

Section Number : 3

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 95335718676

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 953357314527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the following methods of solid waste disposal method releases air pollutants :

Options :

1. Landfill

2. Composting

3. Vermi composting

4. Incineration

Question Number : 61 Question Id : 953357314527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 62 Question Id : 953357314528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A place which has experienced prolonged floods will cause of people.

Options :

1. Resettlement

2. Displacement

3. Repatriation

4. Rehabilitation

Question Number : 62 Question Id : 953357314528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 63 Question Id : 953357314529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tapioca is another name for :

Options :

1. Radish

2. Kappa

3. Ginger

4. Sweet Potato

Question Number : 63 Question Id : 953357314529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 64 Question Id : 953357314530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following dish is popular in Hong Kong?



Options :

1. Som Jam

2. Ling-hu-fen
3. Mapu Tofu
4. Sushi

Question Number : 64 Question Id : 953357314530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 65 Question Id : 953357314531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which type of bird's beak is used to tear and eat meat?

Options :

1. Cone shaped beak

2. Straight & thin beak

3. Hooked beak

4. Long, thin needle like beak

Question Number : 65 Question Id : 953357314531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357314532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher has to teach grade 4 students related to 'quick snack' in her classroom. Which dish will be prepared quickly?

Options :

1. Egg sandwich

2. Custard

3. Dosa



4. Bhelpuri

Question Number : 66 Question Id : 953357314532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357314533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

The art of 'Pata chitra' is a traditional painting/handicraft of which State?

Options :

1. Madhya Pradesh

2. Odisha

3. Gujrat

4. Maharashtra

Question Number : 67 Question Id : 953357314533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :
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Question Number : 68 Question Id : 953357314534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During the pandemic doctors are advising to consume vitamin-C rich food. Select the group rich in Vitamin-C.

Options :

1. Broccoli, soyabeans, peppers.

2. Strawberries, orange, soyabeans.

3. Milk, strawberries, lemon.

4. Broccoli, strawberries, lemon.

Question Number : 68 Question Id : 953357314534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357314535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which state has a common practice of 'JThum cultivation'.

Options :

1. Odisha

2. Mizoram

3. Bihar

4. UttaraKhand

Question Number : 69 Question Id : 953357314535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357314536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the group of harvest festivals celebrated in South India:

Options :

1. Pongal, Ugadi, Bihu and Lohri

2. Onam, Pongal, Bihu and Vishu

3. Onam, Pongal, Ugadi and Vishu

4. Onam, Bihu, Ugadi and Vishu

Question Number : 70 Question Id : 953357314536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357314537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Warli Tribe is well known for Warli Art which is made by using:

Options :

1. Grass & stones

2. Bamboo sticks & stones

3. Cowdung & earth

4. Earth & stones

Question Number : 71 Question Id : 953357314537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357314538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From which of the following group of states in India, tropic of cancer passes :

Options :

1. Uttar Pradesh, Chattisgarh, Odisha

2. Chhattisgarh, Gujarat, Jharkhand

3. Uttar Pradesh, Chattisgarh, Jharkhand

4. Odisha, Andhra Pradesh, Jharkhand

Question Number : 72 Question Id : 953357314538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357314539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ajay is in Bhopal and he wants to attend conferences in Gangtok and Puducherry. What is the position of Gangtok and Puducherry from
where Ajay is :

Options :

1. North west and South west

2. North west and South east

3. North east and South east

4. North East and South west

Question Number : 73 Question Id : 953357314539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357314540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the smallest migratory bird to travel from Arctic region to India :

Options :

1. Pintail Duck

2. Little Osprey

3. Flamingo

4. Little Stint

Question Number : 74 Question Id : 953357314540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357314541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Roni plans to travel from Italy to India. His friends asked him to bring the special Italian cheese. What technique would be the best way to
preserve the cheese and bring it to India:

Options :

1. Canning

2. Dehydrating

3. Salting

4. Vaccum packing

Question Number : 75 Question Id : 953357314541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357314542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
During online classes, how will an EVS teacher teach visually challenged students ?

[A]By sharing voice messages
[B]Using lots of oral explanation
[C]By peer explanation

[D]Using concrete experiences
Options :

1.A,Band C

2.B,Cand D

3.Band D

4.A,B,Cand D

Question Number : 76 Question Id : 953357314542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357314543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
For catering to the educational needs of hearing impaired children, a teacher can modify her online teaching by :

[A]taking support from special educator during online class
[B]Providing offline class exclusively for them
[C]Introducing subtitles and instant captions in her videos and ppts

[D]Using more visuals.
Options :

1.A,Band C

2. A and B
3.A,B,Cand D

4. C only

Question Number : 77 Question Id : 953357314543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357314544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order for pre-service teachers to know his/her values, personality, interest & aptitude. They will use:

Options :

1. Formative Assessment tools

2. Summative Assessment tools

3. Self Assessment tools

4. Formative & Summative Assessment tools.

Question Number : 78 Question Id : 953357314544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357314545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher has decided to give a home activity for students to understand the process of germination. Which among the following is
the most suitable activity:

Options :

1. Preparing charts with diagram.

2. Planting seed in pot.

3. Observation of germinating sprouts from moong.
4. Watching video clips

Question Number : 79 Question Id : 953357314545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357314546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher asked her 3rd grade students to put food feeder on their terrace or open area. She than asked them to prepare a data sheet
of different birds that visit their feeding spot. The objective of this activity is to :-

Options :

1. Engage the student at home.

2. Sensitize the students about birds which are extinct.

3. Develop observation skill regarding the species of birds & their feeding habits.
4. Inculcate compassion for living creatures.

Question Number : 80 Question Id : 953357314546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357314547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in the class discusses the festivals of our country. Irrespective of different cultures, some festivals are common and celebrated all
over the country. Which concept is he or she trying to deal in the class?

A. The value of festivals in our life.
B. Unity in diverse culture
C. Festivals do not have the cultural or regional barriers.

D. Festival gives us peace & pleasure.
Options :

1.AB,Cand D

2.A,Band C

3.B,Cand D

4. A, Cand D

Question Number : 81 Question Id : 953357314547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357314548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in a rural school is teaching food preservation techniques. The best strategy for her will be to:

Options :

1. Use self prepared chart with image of various preservation techniques.

2. Display sample of food items that are preserved.

3. Show power point presentation or short video clips of various preservation techniques.

4. Arrange a field trip in the neighbourhood to observe preservation techniques practised at home.

Question Number : 82 Question Id : 953357314548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357314549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
An EVS teacher is teaching about Valley of Flowers of NCERT textbook. She can use resources for teaching.

[A] Map of India
[B] Madhubani Painting
[C] Different Local Flower

[D] Worksheets
Options :
1.A,B,Cand D
2.A,Band C
3.B,Cand D
4.Cand D

Question Number : 83 Question Id : 953357314549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357314550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following methods would be an effective way to sensitize the students of 4th Grade regarding 'poaching' during a class :
Options :

1. Debate

2. Showing newspaper clipping

3. Poster Presentation

4. Slogan Writing

Question Number : 84 Question Id : 953357314550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357314551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective way to sensitize the students of EVS the issue of 'stereotypes in occupation' is

Options :

1. Social Media

2. Street plays

3. Newspaper

4. Radio



Question Number : 85 Question Id : 953357314551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357314552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
To achieve the goals of environmental education. The curriculum should be based on:

- Learning the environment.
- Learning the environment.
- Learning the environment.
Options :

1. with, for, by

2. about, through, for
3. in, for, with

4. for, in, by

Question Number : 86 Question Id : 953357314552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357314553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asked his student to find out rose plant in the school garden. Some student noticed that all flowers have not bloomed. He
instructed them to observe daily to find out the days they will take to bloom. Here the teacher trying to develop which of the following :



A. Skill of taking readings for experiment
B. Curiosity among the students
C. Wonder at beauty of nature

D. Enjoyment of process of blooming of flowers
Options :

1. C only

2.Aand B

3.Cand D

4. A Only

Question Number : 87 Question Id : 953357314553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 3 AU BT T FTaTerar o6 iy 3 T 3 Wl o6 g o foTm e o 3 2 o e ° e e e #)
36 3= fawr fea fop 3 Ot =61 wieten 2@ o forae o9 & =90 2w o7t 21 981 W ersaToss e B § v e
FATITEAT &

A. TETT T STTHET o &1 S 1 19T

B. B 3 famge

D. Ft 2l Gfead 21 shi (o3 7 ST =T
Options :

| FEAC

, ARB
;, C#RD

4 FETA

Question Number : 88 Question Id : 953357314554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

" At traffic post or at level crossing some people do not switch off the engine of their vehicle even while waiting". An EVS teacher
discussed this issue in the class. What did she want to convey to the students :

(A) Air and noise pollution
(B) Judicious use of non-renewable resources
(C) Misuse of nature resources

(D) Government is not taking steps to prevent this
Options :

1.Aand B

2.A,Band C

3.A&D

4. A,B,Cand D



Question Number : 88 Question Id : 953357314554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357314555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teachers is talking to the children about the ways in which their houses are decorated during festivals and that they must use locally used
materials during celebration of festivals. The purpose of this discussion is/are

(A) To enhance to students creativity
(B) To use local items to preserve our art and culture
(C) To give support to local vendors

(D) To share that local items are cheaper.
Options :

1.A,Cand D

2.A,Band C

3.Aand D

4. A,B,Cand D

Question Number : 89 Question Id : 953357314555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357314556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following tool can collect the qualitative data for the assessment of EVS student.

Options :

1. Anecdotal records

2. Paper pencil test

3. Worksheet

4. Rating Scale

Question Number : 90 Question Id : 953357314556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 953357314559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 953357314560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 953357314561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 953357314562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 953357314563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 953357314564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 953357314565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATH-Z5 T I fame B
|. T AR
2. AT I
3, ATETH EE

4. HATHTIT A
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357314566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Id : 953357314557 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension
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Question Number : 91 Question Id : 953357314558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Question Number : 92 Question Id : 953357314559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 953357314560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 953357314561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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| 999

HEICED

3. giE

4. faame=

Options :
1.1
2.2
3.3
4.4

[E]

Question Number : 95 Question Id : 953357314562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST F SR T F4 A1 87
|. 3799 7T 3T =T S 9T
- = N -
am-—rgcrrraﬁ%crmm
Options :

1.1
2.2

oL



3.3
4.4

Question Number : 96 Question Id : 953357314563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T AT -
1. ATeATeA®
2. HATENE
3. SR

4. HTEATH
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357314564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

armog T I qYT I 97eF E-
1. ST+IT
w3 w3
2. TTHTOT
LR
3. TLHIOT
=SS
4. IO
W3 N2
Options :
1.1
2.2

3.3
4.4

Question Number : 98 Question Id : 953357314565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A9 FT 39 e 2
|. T AR 29
2. AT T
3. AT 9

4. ATEHTITEIH
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357314566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T @ i 7ree wifen-
1. wTEE

SIGH]

=11

4. drEt

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335718678
Question Shuffling Allowed : Yes

| ]

[US]

Question Id : 953357314567 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Trterfigs FTeater it Tea O 0 W4T F T 0T I AT
T T T A

TETAC T HAIEAT T TR

T U

T FEEr

3T | Hiewd = T T A

TeeT g v ST B EER

76 32 Ifera | M g @R A

a7 fengt AF FER F

Sub questions

Question Number : 100 Question Id : 953357314568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

iaar 7 o Tedt 7 i gare v 2
1. F|X

. I

3. e

4. Uiy

Options :

1.1

2.2

3.3
4.4

| ]



Question Number : 101 Question Id : 953357314569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T TReeh TETE 97T 22
1. foar

ERT)

(R

3. "HIar
4. =
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357314570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FATC e #19-6 B T T 27
LR
3. et
4. =HAT
Options :
1.1
2.2

3.3
4.4

-2

Question Number : 103 Question Id : 953357314571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS F AR T I T = g
1. gEi

L~

IR

b2

\;ﬁ
3.7
4. ¥
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357314572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a5 AEFTE|
1. 9%

| ]
%

3. 3UET

4. 995
Options :
1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 953357314573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-ﬁﬂg@ﬂa%:‘ﬁ FHETE

Options :
1.1
2.2
3.3
4.4

Question Id : 953357314567 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

TrATeAEs FTearsT i UgaH IS 0 741 F Fa I0g I avet
FIT i T AT

772 | AT T TR

BERIER]

T THET

3T ¥ Hiepra! = 7 T A

e T U S B RN F

T 32 e | M g @R A

ST Tegt i+ 591 &

Sub questions

Question Number : 100 Question Id : 953357314568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

et 3 o T8t 98 i gae & av 22
1. =R

EQILED

3. &mEA

4. Uy

Options :

1.1
2.2

(R



3.3
4.4

Question Number : 101 Question Id : 953357314569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS T T T O 22

1. foar

-2

3. "HIar
4. =
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357314570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FAT T 1 e T TS
1. R
. T
3. T
4. =t

Options :
1.1
2.2
3.3
4.4

-2

Question Number : 103 Question Id : 953357314571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS FT AR F I T = 3
1. gEl

L%

. 2

b2

Oﬁ
3.7
4. ¥
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357314572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



a5 STEFT 2|

3. 399

4. 99
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357314573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-éﬁg@ga%rﬁ FHETE

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335718679
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357314574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T2 T ST AR

. WTST % THEET 3 Ui 99" &4 2
. uTeT 3 Tt = Sheer AT R
3. fawaamg 1 sTEE FT R

4. TRzt = AT T B

Options :
1.1
2.2
3.3
4.4

—_—

-2

Question Number : 106 Question Id : 953357314574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T2 T ST O SR

|. WTST % et % uie 992 597 2
HTST 3 o o Feey AT 2
3. fova a1 IR FT R
4. Traat =1 aAfaamT=i w2

-2



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357314575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FETEUT  WHTA0T T AT B-
|. e
2. frme
3. IUCIHF

4. T4
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357314575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ISR  WHTA0T 1 A7 B-
1. I
2. e
3. IUSIMHF

4. T4
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357314576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST ST o Tof0 ATt 39 o 3 TogTal o © U &-
2. WTHT S 7l § FIER S e

3. Toeft ot wepme it Wt < S w2
4. | S AYT SHT BT =
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357314576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTST AT % form A S e = fagra S S v -
2. WY ST Gl | FRITER S e

3. Toreft +ft wepme ot Wt =T S T B
4. \TEIT B A Hifhg = =T
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357314577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTHT 3759 2191 2 97
|. == = =TT % 999 UET0 9 2
2. u%ﬁg{%ltﬂé@f&mmml%‘t
3. = I HIST F FFE He B
4. =1 T S=a S5 % WIS T80 AT 2
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 953357314577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 3759 2191 & 579
|. === % ST o 99 TR A 2
2. =9 T N 97 58 ST ST 2
5 i Y
3. T T 9TT F STaET A B

4. =T T S ST 3 WTST TR AT B
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357314578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

& T T el YA o o0 FE S & T e FIwE = TS H e F T 7
2. e o e

3. AT 3 T

4. YIS

Options :
1.1

—_—



2.2
3.3
4.4

Question Number : 110 Question Id : 953357314578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
& T ol I G o (AT et S & T Freen w36 F ATHAT  TETIAT FHFAT 2
2. A F g
3. AT
4. FTEENEA
Options :
1.1
2.2

3.3
4.4

—

Question Number : 111 Question Id : 953357314579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
- =, = s [

1. fow= @ wetee fa=m & wie s

2. 3D TR PR

3. zﬁmﬁ%wﬁ_ T ST AT

- . H\

4. TS il T TH F LA AT
Options :
1.1
2.2

3.3
4.4

Question Number : 111 Question Id : 953357314579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
- i - P’ [
“OT HU (37 TET) S E
e a S [
1. Tow= & Hetere fE=m & wia Jenmar
2. T AT AT T
=, ™~
3. T T % o0 T
= x N
4. TR F1 FS TH F FE0T oAl
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 953357314580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



freferfiaa 5 & F19 & oTasImon ¥Te7 e % fawg | mea 22

1. Teremeft ametass uftfufaat & 78T T90T 3 T=TE ZRT 9T AT Fd £
2. Toremeft it e o S & TRy i e
3. WTST TSTEIT T ST WA ST O ST =
4. e Taequr & T T SE SRET B Hed oA =IEs
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357314580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freferfiaa 5 & F19 & ST ¥reT e % fawg | e 22

1. Teremeft ametass uftfufaat & 78T T90T 3 T=TE ZRT 9T AT = B
2. TRvereff it o wTe S # AETAU e e 2
3. WTST F3Teq0T T S7H WUWUTTe M reET O BT J1En
4. W97 €T § Sie i SIS SiEE i HEwd &A1 =JEn
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357314581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TRt UTS IT STIURON 9T 3 33 T SIS St S STelT WOET (352) FEaTd T -
1. ToemTeas afer
2. Zuft 2 wian
3. ST T
4. =t wfem
Options :
11
2.2

3.3
4.4

Question Number : 113 Question Id : 953357314581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TS AT ST 39T % 297 O SIS S S ST U (25 FEATdT 2-
3, S WA
4. =t wlan

Options :
1.1

—

[R]



2.2
3.3
4.4

Question Number : 114 Question Id : 953357314582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST 3 IEUTES FITTT &
1. U3 9T =g
2. TS YT A0
3. ST 99T S
4, IT=F TUT HI0T

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 953357314582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST 3 IeUTEF 19T 2
|. U3 q9ToET
2. TS FUT A0
3. = YT ET

4. = 79T A9
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357314583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T UTATTH H el 6 IeeE ©
. UTET-TE T S
3. T e SeuATel W AT

4. EHT T FEEAT
Options :
1.1
2.2
3.3
4.4

[E]

Question Number : 115 Question Id : 953357314583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TITHE T 3 UIATET] H [ 1 3evE ©
. UTET-TET I HATHEE ST
2. UTSH-T F I &
3. Ta=mT qu SeuaTeTT AT
4. FET T FEIAT
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 953357314584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traferfias & & FH-91 FUT 99T HIO F a H T8 22
. TereTeTat =1 el U3 YT SEH ShivTe UL ST 241 AME0 Sk AU 94T A= histe &&q: 8 &7 S04 8
. YIS SISTEAT T S, T, USF 9T TG % 3 5 H UgHT =1,
3. T WIS RISTET ST WA & AT S-S iRt 5§75 WSk oA ST =hey
4. 1 3 Tram T T o o ST A ST @ AT Heway 8
Options :
11
2.2

3.3
4.4

—

(R

Question Number : 116 Question Id : 953357314584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafofgs & ¥ F19-91 F9T ST HIITE F TH T T 20
. Tt Ft T UeT 99T SiET ST W ST 34T S1ET S S9 q97 I He = 5 A1 5
. TS SHISTEAT ST FE, AT, U3F U ORG24 5 H TEET =
3. WY WTT RIS S Wt & qeT e 3t Wit § 378 wehehe fREr e =t
4. T 3 Tram e T A 0 S AT T § A gema 8
Options :
1.1
2.2
3.3
4.4

—

| ]

Question Number : 117 Question Id : 953357314585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frfeafige o & 17 91 YA e % 9o § wEl 2

. e AT i AEATeTd F T T2 T 2

2. TTEeRT URTHET TE FeRETTST S ST ST ST S =)
3. v T 1 fovanffent =t wfttfem oo el S =nfem)
4. TEeTE feTentET i S T S TR W 2

Options :
1.1

—_—



2.2
3.3
4.4

Question Number : 117 Question Id : 953357314585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trfeafige & & 17 91 YA e % 9o § wEy 2

. TEERTE ATTHTET S AT F T FAAE T 2

2. T UETHT TE HeReATSAl S AT AT 1A B =
4. TEeRT TN T S T T TS e 2

Options :
1.1
2.2
3.3
4.4

[a—

Question Number : 118 Question Id : 953357314586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WTHT FRTeq0T 5 UT3F T
|. TERHETT WIEE 2

2. T HETAYU T 2
. TETE T 2

4. TG HaTe 2
Options :
1.1
2.2

3.3
4.4

T

Question Number : 118 Question Id : 953357314586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WTST FRTeqT 5 UT3d T

|, TERET W 2

2. U HEwEyUl HHTI 2|
. TEEqul T 7

. ~

4. et gETaT 2
Options :
1.1
2.2

3.3
4.4

T

Question Number : 119 Question Id : 953357314587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FTE I i TR FA F1 U HEwaq0 T &
1. T T I[5 I=AT 1 =T AT
. Tuft =T HiaT FuT T FT
3. we T frufa = oo = T 7o s
4, TAN-ETE TAT AT T e T ST FT
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 119 Question Id : 953357314587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST 1 TR H i o1 U Faaqul Uae] £
1. T TUT (G IS F TFRT AT
2. AT i a7 qAT T AT
3. we T frufq =t o1 = T 7o s
4. IAN-SRTE TAT &7 F el 1 ST FHT
Options :
1.1
2.2

3.3
4.4

Question Number : 120 Question Id : 953357314588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. O AT W e e
. SO T AT W S
3. 3709 I=AR HT ATHAT F

4. IR FFU-FTET HIITEAT F ATFAT T
Options :
1.1
2.2
3.3
4.4

—_—

b2

Question Number : 120 Question Id : 953357314588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. I AR W EE e
. IO WA F A R e e
3. 3T =T T ATHT T

4. TUT HFU-ITET FIOTET F SHFAT T
Options :
1.1

—

(R



2.2

3.3
4.4

Language 11
Section Id : 95335710582
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335718680
Question Shuffling Allowed : Yes

Question Id : 953357314589 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



Tohel: — HAITeTRES el UldeaT AETAT St farped e
IHTOT ST

SR FEHFTHT T FAAT HIeTS! T T 79 |
17 T forae: ol o s e & feme: | A
SIS UATE UETEaR, | S NIaHTeeo=TaaT § Seit:
foram: o snfigam) =, T, F+Hom = faw: s 9
GATEAHIY ST | QEgutaeT | SR gu7 A 7
Tspaadt |

AT ST Tl TG T | T 0T TR | I SR |
STERIT 2feelT HTAT LI Tl Qo =7 30T et 3709 | IR
wiereTtan)” srf=alt 36T — < 96 | FUT T s A9 §1
FEAH | TA=gea I TR Ieh: | T et
T ST JUIT el §: A,
O | JEY TSI GEE 99 33T o 97 WRee qad
Sufeerat swferenty| > we St Te s |

o TRASE: W SR THed VEHG HE MaSuEEE:
FEFAEEEAEE | e JEIEE SUHESH |, SEEE
W&Wml mﬁqﬁrﬁﬂﬁa@
HIHTEATAN Hie A TSI ST S oo |
ey | fid TaEn gk @R w gAte wd Fe
TEAEE| A Ed: UNHE ¥ SV STEaaera e
TAAREAT |

AT~ TG | FIHE, S8t , It JSE, 7 =
HET LTI | S S U q9 @ S, I |

Sub questions

Question Number : 121 Question Id : 953357314590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ISR ST i T T WA 2
1. Tttt foret e |
2: Warfr%{[

&(ﬁﬂlad%@fﬂalgﬂ\l

4. fog: s == T

Options :
1.1
2.2
3.3
4.4

LS



Question Number : 122 Question Id : 953357314591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T = e |
2. TEWIR ATFE |
3, 3RO TTEEA |

4. TFETE T |

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357314592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ANGHH fuar =2 I&EE\" d: ?
1. STEHEE A UL
2. IIEHFE T G
3. YIEHTE GATETEHH
4. ITEHTA A FARATH
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357314593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. T O | ST |
2. HHTHHIA | ATATCH| o= uiesary |
3. H; eI & FT: AT SeRmiT i |

4. FITEFTA thcfnr%mi ERIRIEZIGE

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357314594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357314595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3162 T TawTF 2
1. TeHm
2. dqarEr
3. §H
4. =aeff

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357314596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT W $0 TA & W 2
1. 9o wmHa |

. STRITSTEITET: SAEATAT 39 |
3. i TTHaT |
4. = T anvEe |

Options :

1.1

2.2

3.3
4.4

[

Question Number : 128 Question Id : 953357314597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘AT T Y T F: I6R: TTH: 2
1. ¥=aq
2. FEIEAaH
3. 394
4. Ffaar

Options :
1.1
2.2



3.3
4.4

Question Id : 953357314589 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

Tehd: — SCTRge et Yidear AETAH 3o fased foen
ST =

ST ITEHTETEE T FEAT FIAST T T AT |
o fug:Tm e o) o S rE w: e | A
SATATET AT U | PR S HTeg=TaaT § et
o seme mlw,w,mﬁﬁlﬁﬁ: mqﬁ?
FATEEAGANTE AT | T e |1 ST §7 T 7
T tepererat |

THET IEHT: T TG T | T TR R | I AR |
mﬁgmnmqaﬁ?ﬁ%wgﬁﬂﬂ#wqﬁﬁmml TEHT:
WiersaT|” SAT=gay /AT -« T | FAT G T qdT e '{Fcr
FEARRII, | UF=gedl TG TohTa e W] TaT: S
T FIROTET: WU e §: A,
“TT: | T TESTAE SAEE Uy aed @ i R aed
Sufeeret ity va o Ter o |

ST TN W SIRE T ISR HEAl TS
FEEEESAE | JEIEE SUHEeE |, SR
W&ﬂmml mﬁqﬁtﬁﬁﬁaﬁﬁ
HIHTEATAN Tiee A TSI T ST e e |
ey | fod TaEn 9k @eRas w gAte wd Fe
TEIRAAH| 6 WEa: UNHT § S Eaaera e
TFEREAT |

AT~ TG | FIHE, §ed1 , TG, JEE, 7 =
T3 THEATYE | 3 = FI9 U 99 § FErETEy SO |

Sub questions

Question Number : 121 Question Id : 953357314590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TIETETT IS AT i AT T = A ?
. A=At ferEt o |
T 34-\-1;—&??14—;\[
3. faremwe farert T |
4. g T & T |
Options :
1.1
2.2

3.3
4.4

—

| ]

Question Number : 122 Question Id : 953357314591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T = e |
2. THRWIR HATFE |
3. TR0 TR |

4. ToRTETE T |

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357314592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EHEN-EEI,E, ﬁ?ﬁﬁﬂ%agj a: ?
1. IS T T4
2. ITEHTT T TEH
3. IEHH TR
4. ITEHFTE A FEARATH
Options :
1.1
2.2

3.3
4.4

Question Number : 124 Question Id : 953357314593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. T SO A |
2. W | STATCHF (T Uee e |
3. HTq: JEARAR | TEET: FR07 SAFAion Fie |
4. HTEET | FEAa] o uiSw |
Options :
1.1




2.2
3.3
4.4

Question Number : 125 Question Id : 953357314594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬁmﬁ%ﬂgu‘gﬁ’ & IT6%: TH-TeIIT: AT 2

1. S9E:

3. SEEd
4. fa=:

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357314595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T IT6% T T 2
1. T9H1
2. d4ar=T
3. 9EY
4. e

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357314596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT SUA: I TN T 9IS 2
1. T JTHaT |

. STEITrETET: ST ST9a |
3. s TTHET |
4. T T o7 |

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 128 Question Id : 953357314597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TS I Y T F: ISR T ?
1. =449
2. HHITEad
3. 39d:
4. FfrEam
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 95335718681
Question Shuffling Allowed : Yes

Question Id : 953357314598 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



T |

FVATEG T 5T T SATHI| T AT SFF ST
FR: HET: T T T | U 37 ST, G S ST R
.| ST ShTera BT STEIORTTY AT Sait STued=i
AT TTeT=] TS S AT | U S io=re seat
EIGIIE ‘EIT‘%ITCIT:I

Y qEHE EEISHEA: AGIU: 39 gar-ad HL0E|
AT YA T VS 39 38 TFE Foq| v e =
T TEuraes T FUET 3 JraaH | T FisfU F e
Tl & AW | § T S=ed| T T 8 FHee
WWIWW@H T THH: STATAR,
Trshea srgeq — T aFR! o7 |l T e FAA T H8T:, W
= ATl =st, 7 St o e fuefe | o gense
TR AT AT HTE FA=d G HuTT 98 J $ea=
I Ife = T T T s, 97 § U9 T o
T T | TH=: T T e da=oq |

Y TEEETT ATAW TR §: T AGE: | T FAreg o4
€ W:mmz | TATYE: |: SFAHMYC - maﬁ
TRTEATTY e |L: AT | 7 FFied 4 Wi, §
TG T | ST TS SaT - TEE qee HuiET:
T TS, 3 STHAT: ToAHTeT: S|

Y HUNGR: T T 9 TAaH| T TR ST 19
T ST: ST TATTAT: | T U o TR o TEE0T ST |
Tafea: o I HvEE | g AR W T 9 - W g
TS | T | T | S |u§r—emaw#nmtrr%ﬂaﬂmm
Fif TR, STEAT SAHIE: TS Jeat: FROH 3 37:|

Tere T AT |

Sub questions

Question Number : 129 Question Id : 953357314599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. T 2T 74T T |

2. TSEES A ST F

3. WI9 FES: AT T |

4. TG SUEN FE: T T |

Options :
1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 953357314600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-:ar-iud'tl‘% T o S e 2
1. T: TR e e 9 He |
2. T T T | TR W |
3. F: TS WS § T991 |
4. IO UE: ToE: HaafE
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 953357314601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR 3 A0 T T S 2
|. TR et AT eI Ser, STve |
2. A: TS SUSRIGH 398 FaaT |
3. AT S ST FHT0r ST v AT |
4. TR F&F AR A AT |
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357314602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TeTH: T T SAT=ST
. T IR TEATEA 9 |
2. T TSI AT 9 |
3. TIETE: TS THETE S |
4. T FeASTaTE TN FH= |
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 953357314603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘ST Tega 10T ITshaT =7
. AHTHTE TUHTRY, U=
2. STHTHTTE TUHTEY, T,
3. AT+ FHAETE, THT=T
4. sTatafeg TR, TR

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357314604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“farsTier e IO 133 37 2
1. ST

3. HereTuE
4. Tearfermor=

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357314605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T F: WA T T 2

y 9

4. H9:
Options :
1.1
2.2
3.3
4.4

Question Id : 953357314598 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



T |

FVATEG T 5T T SATHI| T AT SFF ST
FR: HET: T T T | U 37 ST, G S ST R
.| ST ShTera BT STEIORTTY AT Sait STued=i
AT TTeT=] TS S AT | U S io=re seat
EIGIIE ‘EIT‘%ITCIT:I

Y qEHE EEISHEA: AGIU: 39 gar-ad HL0E|
AT YA T VS 39 38 TFE Foq| v e =
T TEuraes T FUET 3 JraaH | T FisfU F e
Tl & AW | § T S=ed| T T 8 FHee
WWIWW@H T THH: STATAR,
Trshea srgeq — T aFR! o7 |l T e FAA T H8T:, W
= ATl =st, 7 St o e fuefe | o gense
TR AT AT HTE FA=d G HuTT 98 J $ea=
I Ife = T T T s, 97 § U9 T o
T T | TH=: T T e da=oq |

Y TEEETT ATAW TR §: T AGE: | T FAreg o4
€ W:mmz | TATYE: |: SFAHMYC - maﬁ
TRTEATTY e |L: AT | 7 FFied 4 Wi, §
TG T | ST TS SaT - TEE qee HuiET:
T TS, 3 STHAT: ToAHTeT: S|

Y HUNGR: T T 9 TAaH| T TR ST 19
T ST: ST TATTAT: | T U o TR o TEE0T ST |
Tafea: o I HvEE | g AR W T 9 - W g
TS | T | T | S |u§r—emaw#nmtrr%ﬂaﬂmm
Fif TR, STEAT SAHIE: TS Jeat: FROH 3 37:|

Tere T AT |

Sub questions

Question Number : 129 Question Id : 953357314599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. T T 4T T |

2. TSEES A ST F

3. WI9 FES: AT T |

4. TG SUEN FE: T T |

Options :
1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 953357314600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

clr-ﬂ-l':}'ﬁlﬁ'l' T o S e 2
1. T: TR e e 9 He |
2. T T T | TR W |
3. F: TS WS § T991 |
4. IO UE: Tw: Haafa
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 953357314601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR 3 A0 T T S 2
|. TR et AT eI Ser, STve |
2. A: TS SUSRIGH 398 FaaT |
3. AT S ST FHT0r ST v AT |
4. TR F&F AR A AT |
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357314602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TeTH: T T SAT=ST
. T IR TEHTEA 9 |
2. T TSI AT 9 |
3. TIETE: T3 TETET S |
4. T FeASTaTE TN FH= |
Options :
1.1
2.2

3.3
4.4

Question Number : 133 Question Id : 953357314603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘ST Tega 10T ITshaT =7
. AHTHTE TUHTRY, U=
2. STHTHTTE TUHTEY, T,
3. AT+ FHAETE, THT=T
4. sTatafeg TR, TR

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357314604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“farsTia e IO 133 27 2
1. ST

3. HereTuE
4. Tearfermor=

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357314605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T F: WA T T 2

y 9

4. H9:
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335718682
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357314606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ATSTTTEERT gy #: o Fateper :1fa 2
|. STV UF o7 BT eeEaed: |
. HINET T FRQUIRETAT: SRRy Feead 3 B U9 T2 T |
3. DI FEAT W FET T FE |
4. AT FieaT AT Iq T TEAT [42I501 FATG A THT A 7T T2 AT &5 T Feal T STATTH],
|
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 136 Question Id : 953357314606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATSTRTEERT =Ty %: & Fateper ar ?
. WTSUTHTS TF O BT S raTed: |
. W T TRV BRIy Fead 3 O U9 o A FE: |
3. DI FEET HE I T i |
4. AATIFET FrieaT AT T T TEMT (901 FATG A TBT AT AT T2 05 T Feal T ST,
|
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 137 Question Id : 953357314607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. STST SR s e THg ST |
3. TAEIHISTET: TF TIT: SIHETSET: @0 |
4. TEIHIIET: STETE: |

]

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357314607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



I ST ST s e T ST |
3. STEZUTSTET: TS S: HIGHISTET: T =)
4. ALTATIET: HTAE: |

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 138 Question Id : 953357314608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

THT TRTeTshe ST FThear JeqohIaed TAN: Fied: | TeaehIId WA HraTeray Hereanady : fafer:
T T 0 2

|, WTSTET: ST ST |

2. HEHITEA IeRTH =E |

3. YoEE TSRO |

4. e TSR STEATTFT S |

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357314608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TRTeqshey ST FThea JeqhITed TAN: Fied: | TeaehIIg T HreTeray Heroangey : fafer:
T @A 2

1. WTSTET: ST F=EU |

2. HEHITEA IeATI =E |

3. WTEEET T=EWO |

4. eI TS STEATTFT S |

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357314609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ARG TR Havrg T, SaTewor 2

r
i

4. TEAH
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357314609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATy TR ER o FaTeTor 2
1. == W
2. HTHTE
3. ‘\ﬁ“‘\ ‘\-\
4. =Y
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 953357314610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTOTTSTETERU0T STEATIY: ST - T Feied ?
l. ¥TTeaeEg
T

. eI 3
4. Tamaam

e M

3]

T

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357314610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSI ST SRR --- T Feieay ?
. ey
TeTEq

=,

. eI STIeTe 3
4. Tawaam

= bt

t-2

L

Options :
1.1



2.2
3.3
4.4

Question Number : 141 Question Id : 953357314611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FreriraerTaT: W SFaaT FefeRad 2T 317 2
. TS T ST ST |
. ST Y |
3. Fremrerer e urgmE A = |
4. AR ST SR |
Options :
1.1
2.2

3.3
4.4

[a—

[R]

Question Number : 141 Question Id : 953357314611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

emTfca=ET: TS TR Mg ST 270 2
. T ToTeuT- T S o |
. ST Y |
3. TramTeT- T a7 |
4. SAfTHIRETET ST SR |
Options :
1.1
2.2

3.3
4.4

—

| ]

Question Number : 142 Question Id : 953357314612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WIS T BT o0 TUTHTTET: ﬁmﬂﬁﬂ?\@ﬂw%ﬁ
1. TEWTST T us v 7 9atd |

. DT TN SIS 379 9T mmﬁﬁmﬁ?ml
4. 7 = =TSt Fiea o= |

Options :

11

2.2

3.3
4.4

t-2

L

Question Number : 142 Question Id : 953357314612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTHTTSTEORE ST T SATHA: TUTHTET: S FeaH STHEwT Ia:-
|, TS ferTers ugs B 1 W |

BT T ST 70 T TraTer Ua A=yt F S |
4. 7 oo =Tt s g |

Options :

1.1

2.2

3.3
4.4

| ]

LS

Question Number : 143 Question Id : 953357314613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FUTHIUR BTF: TFTeANEd hd Te=ar TTeiTd-
1. STIRTEAE AT
2. HTET ¢ mﬁ
3. ST ATATERT A=A
4. FS7 FeqATIEE: e

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357314613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2. FEE S
3. THETET: AAETO AT
4. 9T FeATIT:

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357314614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST JeaTgaed wama: fafir: s
1. UTSATAERE AT SATHAAT AT S FHTaA |
2. W:{Dictation}
3. AT wE |
4. FRTEEE e |

Options :
1.1



2.2
3.3
4.4

Question Number : 144 Question Id : 953357314614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BT AT eI Taraa: [ 21
. UTSATAERE AT ST FATHT STEA FHTEA |
2. ﬂﬁﬁ'@:{Dictation}
3. HETIHEET e |

4. GRTEFTOTEE NI |

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357314615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TAY TaTETvgE e ferfie, weg awt e TR, vt s fh e o
. HEHITHT ST SAFTHT |
2, HEHITET ST W0 |

. TTERTeTR e S |
4. e e i

Options :

1.1

2.2

3.3
4.4

[US]

Question Number : 145 Question Id : 953357314615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS SETETUE REHT, fafaET, Fag A oT: B, vt 39 6 w0
1. HEITER ST IAAIT |
2. HEHITET ST |0 |

. FERTeER e St |
4. TEATeE e wifae TR

Options :

1.1

2.2

3.3
4.4

(Y]

Question Number : 146 Question Id : 953357314616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ORI AT AT: F(=rehioT T8 faferT = Seataea, 2 —
1. BT ST T A1 |
2. DT T T
3. DT UAT (FATHUNA) F4: g 3|
4, T TEEEE WA FY
Options :
1.1
2.2

3.3
4.4

Question Number : 146 Question Id : 953357314616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ORI SATSRTOTHT: Ff=rehioT T2 farferT =1 swataear, 39 —
1. BT ST T T |
2. DT WA T
3. TET: UAT (FHUNA) F4: =9 3|
4. T TEEE WA T
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 953357314617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATeeT 7 —
|. UF: UF T AT |
2. FEE: |
3. T T Wi |
4. FES: T | |
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 953357314617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wTfaed a7 —
|. U U T AN |
2. BN E: |
3. 9 T ;T |

4. WEa: T Wi |
Options :
1.1



2.2
3.3
4.4

Question Number : 148 Question Id : 953357314618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTSTIT: STTETET: TET HTITSTEIIR e Tt T |

1. STqTeATquET
2. EEATCTFRTET
4. UTETERgET
Options :

1.1
2.2

3.3
4.4

L)

Question Number : 148 Question Id : 953357314618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3, TeToTETRTET
4, URETERTLT
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357314619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. WTSTERIITON AaSeE HUE e =
2. FEEm g
4, TR

Options :
1.1
2.2
3.3
4.4

T

Question Number : 149 Question Id : 953357314619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



|. WTSTERIETOT TaRTeE WIS =
2. FEEm
4. TERUEEE

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357314620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATV STATIATH [ Fo e 370 2
STTYeh: TSATHIIT FrIaea |

2. AT G ey Tt |

3. AT FEHITAN TS aTea |

Options :
1.1
2.2
3.3
4.4

—

Question Number : 150 Question Id : 953357314620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTFUR, SAATIATTTS T Y Feaq 71 2
ST TSI Faeay |

2. TATEHIT JUF o=y Tty |

3. AT HRHIE TTSTaea |

Options :
1.1
2.2
3.3
4.4

—_—



